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= . g - £ ‘companies:’ LV :
Each of the following items pertains to one Of._these-c mpany) 2nd Larson Real Estate (a service sector
company), Gregory Food Retailers (2 me‘rchandISiﬂS GEmpan !r od (P)aosts: : -
company). Classify each item as either inventoriable (1) costs OF PETEEEES : L
: PAPRIE . - = -
1 'Depre'c'ia_tlon on Bedell Electronics assembly equipment. 1 e R
| ) = '
_ |2 |salaries of Bedell's assembly line workers : I
3 [Purchase of frozen food for sale to customers by Gregory Food Retailers i X
. [Salaries of _f‘r_gi_sn food personnel at Gregory Food Retailing 5
,5 [Salary of a receptionist at Lz Estate B P el
l6 [Depreciation on a computer at Larson Real Estate . F’ == e
[7 Kalary of a real estate agent at Larson Real Estate




(Question 2 (8 points): ¢

e

~ Answer each of the following independent cases:

1. The balance in the Finished Goods Inventory account on July 1, 2007, was $34,000 and the |
30, 2008, balance in the Finished Goods Inventory account was $41,000. If the cost of gond:
manufactured was 5200 000, what was the cost of goods sold? (3 points)
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i 3. In April, a manufacturing company had the following results:

{ Beginning finished goods inventory $16,000

: mg finished goods inventory $24 000

F Sares SS?_O, 000
Gross Profit $450,000

What was the cost of goods manufactured for Aptil? (3 points)
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2. Ifthebalance in the Finished Goods Inventory account decreased by $30,000 during the period,
ctured was $220,000, what was the cost of goods sold? (2 points)
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| il | ,000. TH ey wili allocate
: y’s accountants estimate total overhead for each month will be $64,000 They

head on the basis of direct labor cost. During the current month, 3 jobs were worked on:
_overhea ik e

o~ Job 745 Job 746 Job 747 —
pirect material $36,000 $56,000 $24000 = ([6oc o
| D&&-!ubbr 556,000 572,000 540,000 = / 800

(.@, Pt e F‘G‘
: |2 foeo Edees Ny _ . : :
Job 745 was completed and sold, Job 746 was completed, arfd Job 747 js still in process. Budgeted direct .

| - labor cost for the month was $-1 60,000 and actual averhw € S
| G
‘Complete the following: e | :
1. The amount of over- or underapplied overhead for the month was %‘1
Als
2. Assuming overhead was $2,000 underapplied and that this amount is considered material, the
balance of work in process after allocation of the underapplied overhead based on overhead -
- L _-_-___—-—_-___--_-
- ; he period is_>4_
+ N

3. Assuming overhead was $2,000 overapplied and that this amount is considered material, the final
adjusted balance of finished goods inventory is

4. -ﬁs's'l"_:jlmhg-bverhead.;was $100 underapplied and that,this amount is considered immaterial, the k!
final adjusted balance of. t of goods sold fs_,zL* A
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_ A selected list of accounts used by Cline Manufacturing Company follows:

code Code
A Cash F  Accounts Payable
B Accounts Receivable G Salaries and wages payable
C Raw Materials Inventory H Manufacturing Overhead
D  Work In Process Inventory (I GostofiGaods Ssold
E Finished Goods Inventory Ji ooles REVCIUS

@ k Manufacturing overhead allocated

Cline Manufacturmg Company uses a job order system and maintains perpetual inventory records.

Instructions: Place the appropriate code letter in the columns indicating the appropriate account(s) to
be debited and credited for the transactions listed below.

TRASACTIONS ACCOUTNS | ACCOUNTS
DEBITED CREDITED
jssued a check to Dixon Machine Shop for Mﬂ&mﬁwmw tlH A

~nN

Direct materials were;ggjﬂslﬂmmd for Job 280.

Indirect factory labor was paid as incurred. ov e he—

~y

¢ | Recognized direct labor used.

D

The production department requisitioned indirect materials for use in the

G

A

G
€

factory.

Overhead was applied to production based on a predetermined overhead

Ho i

rate of $8 per labor hour. [2e M b

Goods that were completed were transferred to finished goods.

D
H
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Goods costing $80,000 were sold for $105,000 on account. E’ T T /2
)
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circle the correct answ

following Infor. ation for the next 5 questions:
Use the follo

(5)
Untant for Whirly Manufacturing Inc. gathered the foﬂowr‘r? g information for the month of
E:ﬁlr.

Beginning WIP 16 000 upits
_ Beginning WIP___—

Started in production 100,000
mucﬂan 92,000
“Ending WP 24,000

—_—

inning inventory was 60% complete for materials and 20% complete for conversion costs. The
n -

mj-beg-n,enta;y was 90% complete for materials and 40% complete for conversion costs.

enaing i

Costé ;ermfnfng to the month of November are as follows:

Beginning inventory costs are:

Materials $54,560
Direct labor 20,320
Facfory overhead 15,240

Costs incurred during November include:

Materials S468,000
Direct labor 182,880
. Factory overhead 391,160

1. Using the first-in, first-out (FIFO) method, the equivalent units of production for materials are . —
a. 97,600 units : -

@ 104,000 units
=RiC: 107,i00 units
o d. 113,600 units
nits of production for conversion costs are Z—"
a. 85,600 units
b. 95,200 units

(© 98,400 unijts
d. 101,600 units



3. Using the FIFO method, the equivalent unit 2 ‘
. c
/  a 8412 ost of materials for November is £~

' $4.50

¢ $4.60
d. $4.80

/' LoIng the;lFo method, the equivalent unit conversion cost for November is o~
a. 55.65

(& $5.83

c. $6.00
d. $6.20

/S. Using the FIFO method, th%f units in the ending work in process inventory on November

-7-30is 5
(D) $153,168 DQ ) C::C] :
b. $154,800 Eic
c. $155,328
d. $156,960

6. When will the weighted average and FIFO methods compute the same dollar amount for the costs to
be transferred to the next department? : ;
a. When there are no units in ending.inventory
When there are no units in beginning inventory
c. When the number of units in beginning inventory equals the number of units in ending

inventory ) g b R
d. When beginning and ending inventory were at the same stage of completion

Use the following information for the next 2 questions.

Xeno, Inc. operates a process costing system and uses the FIFO method. Beginning work in process

consists of 1,000 units, 30% complete. Ending work in process is 15% complete, and direct materials are
£ —_— e e e Rl e e e e e e
added at the 20% point. The equivalent units of production for materials are 14,000 and for conversion

oM E.C

7. The number of units in ending work in process was [ J

costs are 18,000.

Q &7, ‘weo o

a. 37,000 & e _3 I !
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b. 14,000 ( 4J§ ) 3R 504 |Ueee
c. 18,000 A B
d. 22,000 ——
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